N = 0l & At & Ml A

20219 &= = 0llat LB & XA
SN AR
HE: FIBYS oYY 2B
CHRl: MAF DIBHAIE Bt (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o= AHE M 45,123,022 29,168,221 15,954,801
= 21,447,930
s 55,000
= 20,797,092
T 2,823,000
JHAJAE HSIIE &= 45,090,054 29,129,711 15,960,343
= 21,447,930
s 55,000
< 20,764,124
T 2,823,000
AL JIBHAIY &= 31,033,478 18,745,813 12,287,665
= 19,933,780
s 55,000
< 11,044,698
AN L L H (XXM ) (Y AEHZAN(=D) 52,000 52,000 0
= 26,000
< 26,000
308 MtXIEHSOIH 52,000 0 52,000
= 26,000
< 26,000
N 3IN2SHUE3AHEAE A 52,000 0 52,000
OXHCHH Y AEHZAL 52,000
= 26,000
< 26,000
AL H (XXM ) (HrH A2 H ) (=2 1) 107,500 1,040,600 A 933,100
= 100,000
< 7,500
403 UHXSHHSA=0l& 107,500 1,040,600 933,100
= 100,000
< 7,500
01 X SHMA2E X 107,500 1,040,600 A 933,100
odotoi &2 H 107,500
= 100,000
< 7,500
MEHLHAES(=1) 507,857 1,354,286 A 846,429
= 450,000
< 57,857
403 MtXISHH S A0l & 507,857 1,354,286 A 846,429
= 450,000
< 57,857
01 X SHHAN2E= 507,857 1,354,286 A 846,429
OM=EHENH2ES 507,857
= 450,000
< 57,857
Aoy Moy SO 256,276 350,260 A93,984
202 (4l 15,000 18,000 A 3,000




LR
%

HE: FIBYS oYY 2B
Chel: MAF JIHHAIE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 15,000 18,000 A 3,000
OHZ2oi0oled Mad SUHAMY X 15,000
308 XtXIEHH SOl A 88,802 206,860 A 118,058
01 AXHHBILEES 88,802 206,860 A 118,058
O==4tolo] & J1g@&dA X3 35,000
OEJtAtel =0HALY 53,802
403 MtXISHHE X201 & 152,474 125,400 27,074
01 AXSHHMA=2E X 152,474 125,400 27,074
OZFXY A7 &FNMEs FH 7Y X2 152,474
UBtsAHENL (2 1) 55,000 35,000 20,000
s 55,000
308 XtXIEHH SOl A 55,000 0 55,000
s 55,000
01 AXHHILEES 55,000 0 55,000
OX Y A2AstALY 55,000
s 55,000
Agoe 222 322,000 262,617 59,383
401 Al HI YL =2 Tl 322,000 205,617 116,383
01 A& HI 320,000 204,000 116,000
oxgog B2 320,000
03 A& =2 THHI 2,000 1,617 383
oxgas =22 2,000
E-ES P 750,000 1,085,000 335,000
403 A X EHHS =0l A 750,000 1,085,000 A 335,000
01 X EHHMA=LE L 750,000 1,085,000 335,000
OHEZF=0E M 150,000
OEMIHEANY &4 540,000
ONHEALOE ML AIAE S 60,000
HEsSLEAXS(21) 500,000 500,000 0
= 250,000
< 250,000
308 AHAIEHHSOIA 500,000 0 500,000
= 250,000
< 250,000
113/ 2SoHUHSBHEAEALS I 500,000 0 500,000
OHEESANAEEH XA 500,000
= 250,000
< 250,000
THoH 2 X2HE AEEY (e 6,716,750 7,000,000 A 283,250
401 Al HI L 2 THHI 6,716,750 7,000,000 283,250




SN AR
HE: FIBYS oYY 2B
CHel: M JIBAA 2E (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 6,700,000 6,982,000 A 282,000
OMoH = 2F Xee M- (HE) 6,700,000
03 Al 24| 16,750 18,000 AN 1,250
OTHoHF 2F XIS AlIZ&AHI(HEH) 16,750
S HAE ASE 201,600 0 201,600
403 XX SHHMES X201 A 201,600 0 201,600
01 XS RS2 X 201,600 0 201,600
O&FXI ISl A&d XN 50,400
Ol HELdA(JIFe)AE X 151,200
HER%E300(2019)(=2 1) 3,212,479 7,066,050 AN 3,853,571
= 2,846,500
o= 365,979
403 XX SRS K 20| & 3,212,479 7,066,050 AN 3,853,571
= 2,846,500
=} 365,979
01 AXESHHE2E X 3,212,479 7,066,050 N 3,853,571
O =%E300(2019) 3,212,479
= 2,846,500
& 365,979
0 &% €300(2020)(=12) 18,352,016 0 18,352,016
= 16,261,280
= 2,090,736
403 XX SHHS K20 & 18,352,016 0 18,352,016
= 16,261,280
= 2,090,736
01 XIS A2E X 18,352,016 0 18,352,016
© 0 &% =£300(2020) 18,352,016
= 16,261,280
= 2,090,736
zedg 4 10,297,026 5,602,998 4,694,028
= 564,150
& 6,909,876
TH 2,823,000
= APE X2 10,000 10,000 0
207 I | 10,000 10,000 0
01 g E Y| 10,000 10,000 0
OL=AS A & DA A 10,000
AESANUHXNEZ(BIETZ)(=21) 373,065 0 373,065
= 339, 150
= 33,915
403 XX S M S K201 A 373,065 0 373,065
= 339, 150
& 33,915




SH: MEHY
HE: FIBYS oYY 2B
H: JlE2eEng 4 (2 &HH)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
01 XIS A2 X 373,065 0 373,065
Ol EEBZEZ 373,065
= 339,150
o= 33,915
aPdemez2(=210) 32,143 25,148 6,995
=2 25,000
& 7,143
403 XX SHHS K20 & 32,143 25,148 6,995
=2 25,000
& 7,143
01 MXSHHXNE2E =X 32,143 25,148 6,995
OXSARHEEZ 32,143
2 25,000
& 7,143
HAOFH & MAHA 22 1,283,800 2,061,000 NTT7,200
201 et 4,200 4,200 0
01 AP 22| H| 4,200 4,200 0
OHHH A MHE 222d 4,200
202 04| 10,000 12,000 A 2,000
01 2Ll 10,000 12,000 A 2,000
O E HHE 222H 7,500
OHIHOIEH J|BtAIY =& 2,500
403 XX SHHS K20 & 1,269,600 2,044,800 ANT75,200
01 XIS A2E X 1,269,600 2,044,800 ANT75,200
OdHH XAE X 233,400
oREs s NAZ= 150,000
O20H AMA - Atstd X4 360,000
Odlla SSFAAST =4 513,600
oddol sX AN XN 12,600
SAMS AREMAIE XM (ZIIREXH) 150,000 150,000 0
403 XX SHHS K20 & 150,000 150,000 0
01 RXISHHN =2 E 150,000 150,000 0
SUMS MBNAT T4 150,000
SASTHL LT (M E) 1,382,800 1,033,800 349,000
403 XX SHHS K 20| & 1,382,800 1,033,800 349,000
01 XIS A =2E X 1,186,800 856,800 330,000
O AT = (cHSH) (X EH) 1,186,800
02 Z2I)|2SOUeHI =X E A HI 196,000 177,000 19,000
OFMETNHAYT SWEAH(HE) 196,000
D42 e N (=2D) 200,000 0 200,000
= 200,000




2N
X ZH -
L= B
el

S

0y 4

NE-En
MEYS 0YIIY &5
EEC R

SA - BB B (EH) - NRAY - BES of & o SSa HI D2
403 AXHHSXH=0lA 200,000 0 200,000
= 200,000
01 AR SHHA =22 = 200,000 0 200,000
Ounsz2 s XA 200,000
= 200,000
bttt 24 (88 760,000 1,173,050 A 413,050
403 A X EHS =0l A 760,000 1,173,050 A 413,050
01 HXSHH =2 xE 760,000 1,173,050 A 413,050
OHttts =& (HE) 760,000
AU AE (HEH) 1,250,000 1,000,000 250,000
401 AIEBIZ 2 CHYI 1,250,000 1,000,000 250,000
01 Al&HI 1,246,000 996,400 249,600
OABHZAIL(HE) 1,246,000
03 Al 2 THHI 4,000 3,600 400
OASHZAIL(HE) 4,000
HZHEESE22Z(HE) 200,000 150,000 50,000
403 A X EHHS =0l A 200,000 150,000 50,000
02 SIS0t AE AL 200,000 150,000 50,000
ONEZ=NHEESLE L (MEH) 200,000
28 telgtEY A AL HHMExM 4,655,218 0 4,655,218
£ 1,832,218
H 2,823,000
401 AIEBIZ 2 CHYI 4,655,218 0 4,655,218
= 1,832,218
H 2,823,000
01 Al&HI 4,645,218 0 4,645,218
OZE ctolstAUdA A4 HHAHE =4 4,645,218
= 1,822,218
H 2,823,000
03 Al S THHI 10,000 0 10,000
OZE el A HE HWHMHE =4 10,000
SEANE T8 L £M2 JIAHD 3,759,550 4,780,900 ~1,021,350
= 950,000
= 2,809,550
oA B ETAIAAIYE (2 D) 1,500,000 1,500,000 0
= 750,000
= 750,000
307 212t0 & 1,500,000 1,500,000 0
= 750,000
= 750,000
02 QB AAMNPE X 1,500,000 1,500,000 0
O=&taty - EXNXE 1,500,000
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%

Bu: Zmeige ooy 25
2 RSAE =4 E 442 M2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 750,000
< 750,000
=HE IS - RSIIEAIE & BHZOWH 408,050 672,000 A 263,950
202 O4dl 7,600 9,000 A 1,400
01 = LHA YI 7,600 9,000 A 1,400
O==ds IS8 - RS ¥ 2= N 7,600
307 glz2+ol & 100,000 100,000 0
02 It M AHEE 100,000 100,000 0
OUEAl =42 SEHE A 100,000
308 XX EHHSOIA 43,200 20,400 22,800
01 HXNHHBHELS 43,200 20,400 22,800
O=42 HIHH(2et2!) 2l 2435 X 43,200
403 UHXSHHS =0l & 257,250 542,600 A 285,350
01 HXSHMA2E X 257,250 542,600 A 285,350
OZE &2 dSHED E=XE 20,250
O3S LSESANE AT ZA 81,000
OO HEH o=l 2 Ald FHHI 156,000
Y o= 2 FHl 268,500 210,000 58,500
403 MtXISHH S =0l & 268,500 210,000 58,500
01 XM A2E X 268,500 210,000 58,500
O == AlE X&A 148,500
O3&E HYE =33 A4 XA 120,000
3 FEHAY 245t 166,200 153,600 12,600
308 AHAIEHHSOIA 86,400 86,400 0
01 HIXNHHNBHEELS 86,400 86,400 0
OZHAMY 2SR SHEHE S20HE 86,400
403 MtXISHHE A0l & 79,800 67,200 12,600
01 XM A=2E X 79,800 67,200 12,600
OZEHLHY Z2AEL2 I X& 79,800
SIS E (HE) 46,800 0 46,800
403 UHXISHHE X201 & 46,800 0 46,800
01 X SHHX2E= 46,800 0 46,800
O2&S MXIIISAIE (HEH 46,800
FANSREANL HE (HE) 1,110,000 0 1,110,000
403 A X EHHSH20IA 1,110,000 0 1,110,000
01 X EHHMA=2LE L 1,110,000 0 1,110,000
OFMESRSEFUH(EE) 260,000
O=ttE ZIHE(HE) 360,000
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